Partdrawing for DJS101ZJ - Plaatschaar 18V

50

2014/02
DJS101




Partdrawing for DJS101ZJ - Plaatschaar 18V

Nr.
001
002
003
004
005
006
007
009
010
o1
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
036C10
037
038
039
040
041
042
043
044
045
045C10
046
047
048

Part nr.
266091-3
922147-9
961011-9
346131-4
343480-0
343481-8
792536-0
251951-2
261065-9
253338-4
792537-8
253338-4
261065-9
267010-2
267010-2
256155-1
256155-1
331329-6
423118-4
140130-6
325727-4
252083-8
266085-8
256733-7
961012-7
210023-2
253133-2
331273-7
210067-2
325716-9
227716-4
325715-1
210033-9
442150-9
140131-4
263002-9
619249-7
421977-0
631714-6
638627-2
638921-2
850H44-6
265995-6
419566-3
187839-9
263005-3
419519-2
650579-7
424026-2

Name

Tapschroef 4X50

Inbusbout M4X25

Stopring E-4

Meshouder R Bjs160/161
Meshouder L Js1660
Opvulplaat Js1660

Zijmessen set

Schroef 5X10

Kunststof Ring 7 Bjs160/Js1000
Dunne Sluitring 7

Middenmes

Dunne Sluitring 7

Kunststof Ring 7 Bjs160/Js1000
Sluitring 5

Sluitring 5

Pen5

Pen5

Aandrijfnok Js1650-1660-1670
Stofafdichting Js1650-1660-167
Krukashuis Bjs160/161
Geleideblok Js1601/60/70 A
Zeskant Borgmoer M4X7
Stelschroef M6X10Mm

Pen 7 Bjs160/Js1650/60/70
Stopring E-6 P
KOGELLAGER 627DDW P
Sluitring 7

Drijfstang Js1650-1660-1670
Kogellager 6000Zz Ls10/1216L
Borgschroef

Tandwiel 35 Bjs160/161
Krukas

Kogellager 6962z P

Pakking

Tandwielhuis Bjs160/161
Rubber Pen 4 6413 A

Anker Bjs161

Rubber Ring 13 Bga452
Led-Circuit Bga452

Magneet Unit Bgd800 A
Koolborstelhouder Bga452 A
Naamplaat DJS101
Tapschroef 4X18 A
Schakelknop Bga452 A
Behuizing Bjs161 3-Cont
Rubber Pen 6
Schakelaarhandel Bga452
Schakelaar Bga452
VIBRATIEPLAAT BTW251 P

I’H!'l !!!'l

Pl Rl




Partdrawing for DJS101ZJ - Plaatschaar 18V

Nr.

049

050

051
051C10
052
053
054

Part nr.

620243-4
644808-8
187839-9
263005-3
191971-3
643929-3
419518-4

Name

Toerenregeling Dga452 3-Cont
Aansluitunit Bhr241 (3 Cont) A
Behuizing Bjs161 3-Cont
Rubber Pen 6

Koolborstel Set Cb-430 A
Koolborsteldop Bga452
Koolborstelafdekkap Bga452

'H!{l,;!!!‘fl




